
ASSEMBLY & INSTRUCTION MANUAL

READ AND SAVE THIS INSTRUCTIONS FOR FUTURE USE



EN

2



FR

3



ES

4



DE

5



IT

6



BOX-1/2 BOX-2/2
NO. PARTS QTY NO. PARTS QTY

PACKING DETALS:TOTAL 2 BOXES

A

E

H

B

C

D

F

G

↓
 I

N

1

1

4

4

2

12

1

2

1

7



PARTLIST

M6*60

M8*25

M8

M6

M6*32

N  1

M 24

L 24

K  8

J 24

I 16

H  4

G  2

F  1

E  1

D 12

C  2

B  4

A  1

8



D

F

L
M

1xF

8xL
M8*25

8xM
M8

4xD

1

2

3

4

01

DIFFERENT COMBINATIONS

9



E

16xL
M8*25

16xM
M8

8xD

1xA

L
M

D

A

1xE

D

2xC

 8xK
M6*60

 8xJ
M6

C

EA

C

K
J

03

02

10



I
J

8xI
M6*35

8xJ
M6

2xB

B

B

A

8xI
M6*35

8xJ
M6

2xB

M

I
J

B

B

E

05

04

11



2xG

4xH

G

H

06

COMBINATIONS 1

12



8xI
M6*35

8xJ
M6

2xB

8xI
M6*35

8xJ
M6

2xB

E

I
J

B

B

I
J

A

B B

08

07

03

13



2xG

4xH

G

H

09

COMBINATIONS 2

14



8xI
M6*35

8xJ
M6

2xB

8xI
M6*35

8xJ
M6

2xB

E
J

B
B

I

I
J

A

B

B

11

10

03

15



2xG

4xH

G

H

12

COMBINATIONS 3

16



8xI
M6*35

8xJ
M6

2xB

8xI
M6*35

8xJ
M6

2xB

I
J

A

B

B

E
J

I

B

B

14

13

03

17



2xG

4xH G
H

15

COMBINATIONS 4

18




